We are sorry, an unexpected error has occured in the export of your issue.

Please provide the information below to our support.

General Exception: java.lang.NullPointerException

java.lang. NullPointerException
at com.xpandit.jiraxporter.commons.document.builder.impl.aspose.word.replacer.processor.XporterProcessor. process(XporterProc 88
at com.xpandit.jiraxporter.commons.document.builder.impl.aspose.word. AsposeWordConverter.convert(AsposeWordConverter.ja
at com.xpandit.plugins.jiraxporter.web.rest.services.DocumentBuilderResource.processBulkRequest(DocumentBuilderResource.java:3
at com.xpandit.plugins.jiraxporter.web.rest.services.DocumentBuilderResource.handle Bulk(DocumentBuilderResource.java: 195)
at com.xpandit.plugins.jiraxporter.web.rest.services. DocumentBuilderResource.access$ooo(DocumentBuilderResource.java:59)
at com.xpandit.plugins.jiraxporter.web.rest.services.DocumentBuilderResource$ 1 .run(DocumentBuilderResource.java: 106)
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${set(Estimate,0)}${set(Logged,0)}${set(Story PointsSum,o)}${set(BugCount,0)}${set(UserStoryCount,o)}${set(NewFeatureCount,0)}${set(ImprovCount,0)}${set( TasksCount,0)}${set( TodayDate,%{(new Date()).getDate() +'/'+ ((new Date()).getMonth()+1) +'/"+ (new Date()).getFullYear()})}${set(FunctionFormatSeconds, "var w =
Math.floor(v / 144000);var d = Math.floor((v - (Math.floor(w) > o ? (W*144000) : 0)) / 28800);var h = Math.floor((v - (Math.floor(w) > o ? (W*144000) : 0)-(Math.floor(d) > o ? (d*28800) : 0)) / 3600);var m = Math.floor(v % 3600 / 60);var s = Math.floor(v % 3600 % 60);(w=>0 ? w +'w ") + (d>0 ?d +'d ") +(h >0 ?h+"h":") + (m >

o?m+"m" ") 4 (s> 0 s +'s" " )).1oString(;"))
Key Summary Type Assignee Story Points Estimate Time Time
&({for issues}
${Key} ${Summary} ${IssueTypeN | ${AssigneeUserDisplayNa | ${Story Points} %{var v = %{var v =
ame} me} #{if (%{'${Story Number(“${Remai | Number(“${Ti
Points}' |="})} ningFstimate}”);${ | meSpent}”);${F
${set(StoryPoints | FunctionFormatSe | unctionFormat
Sum,%{Number( |conds}} Seconds}}
"${Story Points}") #if
+ (%{'${TimeSpe
Number("${Stor nt}' 1="H}
yPointsSum}")})} ${set(Logged,%

#{if (%{'${Issue TypeName} .equals('Story’)})}
${set(UserStoryCount,%{(Number("${UserStoryCount}")+1).toFixed(o)})}
#{end}

#{if (%{'${Issue TypeName} .equals(New Feature)})}
${set(NewFeatureCount,%{(Number("${NewFeatureCount}")+1).toFixed(o)})}
#{end}

#{if (%{'${Issue TypeName}' .equals(Improvement)})}
${set(ImprovCount,%{(Number("${ImprovCount}")+1).toFixed(o)})}
#{end}

#{if (%{'${Issue TypeName} .equals(Bug)})}
${set(BugCount,%{(Number("${BugCount}")+1).toFixed(o)})}

#{end}

#{end}

{Number("${Ti
meSpent}’) +
Number("${Lo
gged})H}
#{end}
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#{if (%{'${Issue TypeName}.equals(Task)})}
${set(TasksCount,%{(Number("${TasksCount}")+1).toFixed(o)})}
#Hend}

&{end}
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&{for issu

${i’(’\£gj‘\é>ctName} - $1Sprint} — Number of Issues

&lend)

User Stories ‘ New Features ‘ Improvements ‘ Bugs ‘ Task

${UserStoryCount} ${NewFeatureCount} ${ImprovCount} ${BugCount} ${TasksCount}
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&{for issues|filter=5¢{${Bulklssuelndex) == o}

${ProjectName} - ${Sprint} - Statistics

&lend)

&{for issues|filter=%{${BulkIssuelndex} == o}}
Total Story Points Total Logged Work Total Issues

${StoryPointsSum} %{var v = ${BulkIssuesCount}
Number(“${Logged}”);${FunctionFormatSeconds}}

&{end}
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